HYDRAULIC CIRCLE KUPWARA -- HEADQUARTER HANDWARA

Fax/Phone:01955262005 ***************************** email:sehydkupwara@gmail.com

Mr. Mohammad AFZAL WAR S/o. Mohammad AHSANWAR

R/o: Awoora

Registration No: 11/SE/HYD/AAY/Hand/civil/2004-05

GSTIN NO: 01AARPW7398GIZZ

ALLOTMENT ORDER NO: 06-DSE/HH/DB OF 2022-23 DT: 1-00-2022

Construction of 0.75 Lac gallons, 0.30 lac gallons, 0.20 gallons, 0.15 lac gallons RCC service reservoirs with sluice chambers, RCC pre settling tank, chain links, fencing structures and anchors/saddle blocks for 100% FHTC under JJM for WSS Zurhama Kawari.

1. Minutes of the 8th meeting of Technical Appraisal Committee held on 08.02.2022, Ref: minutes issued thereof vide CE/PHE/44620-41 dated. 12.03.2022 2. Accord of Administrative Approval vide Chief Engineer Kashmir PHE Deptt. Srinagar's

Order No. CE/PHE/DB/JJM/273 of 08/2022 dated. 01.08.2022 2. District Action Plan of District Kupwara by DJJM vide No. DDCK/Plg/JJM/4465-85 dated.

3. Govt. Order No. 19-JK(JSD) of 2022 dated. 04.02.2022

4. Technical Sanction Order No. CE/PHE/DB/141 of 08/2022 dated. 25.08.2022

2. District Development Commissioner Kupwara's authorization No. DDCK/Plg/JJM/7152-72 dated. 07.09.2022

Advertised cost: -

Rs 151.36 Lacs

Allotted cost: - Rs

Rs. 15741542.7748

(Rupees one Crore fifty seven lacs fourty one thousand and five hundred forty three rupees) For and on behalf of the Lt. Governor of Jammu and Kashmir UT, contract for Construction of 0.75 Lac gallons, 0.30 lac gallons, 0.20 gallons, 0.15 lac gallons RCC service reservoirs with sluice chambers, RCC pre settling tank, chain links, fencing structures and anchors/saddle blocks for 100% FHTC under JiM for WSS Zurhama Kawari is hereby fixed with you on the accepted rates by you as shown in the enclosed Annexure of this allotment. The total cost of the work will be of the order of Rs. 157.414(Rupees one Crore fifty seven lacs fourty one thousand and four hundred rupees) on the terms and conditions as laid down in E- NIT No: 12 of 2022-23 issued under endorsement No

PHEDK/404-13 Dt: 10/05/2022 from the Executive Engineer PHE Division Kupwara shall be binding on the contractor

SI. No.	Item Description	Quantity	Unit	Allotted Rate @ above 4.00% on advertised rates	AMOUNT
1	Earth work in bulk excavation by mechanical means (hydraulic excavator) over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth lead upto 50 meters and lift upto 1.5 m, as directed by Engineer-in-Charge. (All				
	kinds of soil)	618.76	Cum	188.75	116790.95
а	All kinds of Soil	27.68	Cum	378.350	10472.728
b	Ordinary Rock	27.00	-		
- 1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides andramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of	,			
	surplus excavated earth as directed:	217.18	Cum	436.000	94690.48
a	All kinds of soji	217.10	Cum		1

	consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	127.03		Cum		198.700		25240.8	61		
	Providing and laying hand packed stone soling 50 mm nominal size including filling, spreading, dressing, ramming, all leads lifts and all carriages complete.	103.02	2	Cum	1320.000		00	135986.400			
	plinth level with:			Cum	-	6465.	200	26751	70.456		
6	l addredate 20 mm nominal size)	413.7	78	Cum	+-	4861.840		344704.456			
	1:4:8 (1 cement : 4 coarse sand : 8 graded stone	70.9	O Cum		_	4861	.640		The second secon		
	aggregate 40 mm nominal size) Providing and laying cement concrete in retaining wall, return wall, (any thickness)including attachedpilasters, columns, piers, abutments, pillar s, posts, struts, buttresses, string or lacing courses, parapet, coping, bed blocks, anchors, blocks, plane window sills, fillets floor v level, including curing but excluding the cost of centring, shuttering and finishing with 1:3:6, (1 cement, 3 sand, 6 course aggregates, 20 mm normal size).	11.	54	Cum	tum 7269.190		9.190	90 83886.453			
	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering finishing and reinforcement. All works up to plinth level 1:1½:3 (1 cement: 1½ coarse sand: 3 grade)	g, to	30.77	C	um		7800.760		1020105.	385	
	stone aggregate 20 mm nominal size)	ny l		-		1					
	Reinforced cement concrete work in walls (at thickness) including attached pilaster buttresses, plinth and string courses, filler columns, pillars, piers, abutments, posts a struts up to floor five level including curing the excluding cost of centering shuttering, finishing and reinforcement.	ts, nd out ing							42429	558.718	
-	1.11%-3 (1 cement : 11/2 coarse sand : 3 grad	led	142.84	1	Cum		9408.14	0	13430		
9	Reinforced cement concrete work in bear suspended floors, roofs having slope up to 1 landings, balconies, shelves, chajjas, lint bands, plain window sills, staircases and spatiar cases up to five level including curing excluding the cost of centring, shutter	ms, 15°, els, biral but ing,							14	19808.614	
а	1:1½:3 (1 cement : 1½ coarse sand : 3 gra stone aggregate 20 mm nominal size)		15.2	21	Cu	m 9849.3		.350			
10	including curing but excluding the cos	level t of									
а	1:1½:3 (1 cement : 1½ coarse sand : 3 gr stone aggregate 20 mm nominal size	1	33	.95		Cum	104	104.520		353233.4	54
11	Centering and shuttering including strupropping etc. and removal of form for:	ıtting,									
а	Foundations, footings, bases of columns emass concrete.		99	995.17		sqm		262.300		261033	.091
() b	Walls (any thickness) including attempilasters, buttresses, plinth and string coefc.	ached ourses (sqm		573.850 107		107580	8.072
HDO!	T T	8								DSE	

U	and a more and the second	1 239 73	ı sam	2086.800	500268.564
0		177.21	sqm	1008.450	178707.425
12	Extra for shuttering in circular work (20% of respective centring and Shuttering items)				
		67.44	eam	52.460	3520.591
				114.770	95142.035
				417.360	100053.713
13	Providing and mixing water proofing material in cement concrete work in doses by weight of cement as per manufacturer's specification (1)	623	kgs	57.900	36071.700
14	steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete approved make from factory/workshop to construction site including placing in position and binding all			; ;}	
а	Thermo-Mechanically Treated bars of grade Fe-500D or more.	29858.21	Kg	95.100	2839515.711
15	Structural steel work in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete, welded	9910.69	Кg	111.420	1104249.080
16	Providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer-in-charge. (Made of	539.85	sqm	733.500	395979.975
17	Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required in gratings, frames, guard bar, ladder, railings,	2793.6	Kg	159.960	446864.256
18					90671.793
		239.79	, Sqm	378.130	
		708	sqm	286.060	202759.328
19	Finishing walls with water proofing cement paint of required shade on New work (two or more	684.43	sqm	91.800	62867.394
0	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade	1122.8	sqm	121.950	136925.460
	Providing & fixing of MS pipes / fittings viz bends of suitable degree, tees, collars etc to be fabricated from 6mm Nominal Size MS plate as per the requirement of site including cost of welding. The work should be leak proof and should be painted with anti-corrosive red oxide primer. Complete Job.	800	Kg	147.820	118256.000
	(with cap) complete with rubber insertions, bolts, nuts, extension rod, joint connector, supporting pedestal with base plate, top plate and necessary anchoring bolts etc. (the tail pieces if required will be paid separately). Confirming to S:14846 read with latest amendments. (if not				
1	100 mm dia.	6	Each	17210.000	103260.000
-	12 a b c c 13 14 a 15 16 17 18 a b 9 0	Extra for arches, domes, vaults exceeding 6 m span Extra for shuttering in circular work (20% of respective centring and Shuttering items) Foundation Walls Domes Providing and mixing water proofing material in cement concrete work in doses by weight of cement as per manufacturer's specification. (1 kg of water proofing material in 50 kg of cement) Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete approved make from factory/workshop to construction site including placing in position and binding all complete up to plinth level. Thermo-Mechanically Treated bars of grade Fe-500D or more. Structural steel work in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. welded Providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer-in-charge. (Made of G.I. wire of dia 4 mm) Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required ln gratings, frames, guard bar, ladder, railings, brackets, gates and similar works 17 prinching walls with water proofing cement paint of required shade on New work (two or more coats applied @ 3.84 kg/10sqm) Finishing walls with water proofing cement paint of required shade on New work (two or more coats applied @ 3.84 kg/10sqm) Painting with synthetic enamel paint of approved brand and manufacture to give an even shade Two or more coats on new work Providing & fixing of MS pipes / fittings viz bends of suitable degree, tees, collars etc to be fabricated from 6mm Nominal Size MS plate as per the requirement of site including cost of welding. The work should be leak proof and should be painted with anti-corrosiv	e Extra for arches, domes, vaults exceeding 6 m span 177.21 Extra for shuttering in circular work (20% of respective centring and Shuttering items) a Foundation b Walls c Domes Providing and mixing water proofing material in cement concrete work in doses by weight of kg of water proofing material in 50 kg of cement) Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete approved make from factory/workshop to construction site including placing in position and binding all complete approved make from factory/workshop to construction site including placing in position and binding all complete up to plinth level. Themmo-Mechanically Treated bars of grade Fe-500D or more. Structural steel work in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. welded Providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer-in-charge. (Made of G.I. wire of dia 4 mm) Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works. 12mm Cement plaster a 1:3 (1 cement: 3 fine sand) 708 Finishing walls with water proofing cement paint of required shade on New work (two or more coats applied @ 3.84 kg/10sqm) Painting with synthetic enamel paint of approved brand and manufacture to give an even shade Two or more coats on new work Providing & fixing of MS pipes / fittings viz bends of suitable degree, tees, collars etc to be fabricated from 6mm Nominal Size MS plate as per the requirement of site including cost of welding. The work should be leak proof and should be painted with anti-c	Extra for arches, domes, vaults exceeding 6 m span 177.21 sqm Extra for shuttering in circular work (20% of respective centring and Shuttering Items) Foundation 67.11 sqm Foundation 828.98 sqm Providing and mixing water proofing material in cement concrete work in doses by weight of cement concrete work in doses by weight of cement as per manufacturer's specification. (1 kg of water proofing material in 50 kg of cement) Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete approved make from factory/workshop to construction site including placing in position and binding all complete up to plinth level. Thermo-Mechanically Treated bars of grade Fe-500D or more. Structural steel work in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete, weided Providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer-in-charge. (Made of G.I. wire of dia 4 mm) Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required in gratings, frames, guard bar, ladder, railings, brackets, gates and similar works. 18 12mm Cement plaster a 1:3 (1 cement: 3 fine sand) 239.79 Sqm Finishing walls with water proofing cement paint of required shade on New work (two or more coats applied @ 3.84 kg/10sqm) Painting with synthetic enamel paint of approved brand and manufacture to give an even shade Two or more coats on new work Providing and fixing of MS pipes / fittings viz bends of suitable degree, tees, collars etc to be fabricated from 6mm Nominal Size MS plate as per the requirement of site including cost of welding. The work should be leak proof and should be painted with an	Extra for arches, domes, vaulis exceeding 6 m span span span span span span span span

DSE

	150 mm dia.	2	Each	26720.000	53440.000
b	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				
	Carriage of materials by mechanical transport including loading, unloading, stacking of				
23	materials			330.420	34039.868
	Soling by 10 km	103.02	Cum	545.280	34407.168
<u>h</u>	Stone Aggregate 40 mm size by 30 km	63.1	Cum		180915.056
	Stone Aggregate 20 mm size by 30 km	360.64	Cum	501.650	281548.740
C	Sand by 50 km	402	Cum	700.370	125874.029
d		280.95	MT	448.030	
e	Cement by 30 km		MT	448.030	13378.176
f	TMT Steel by 30 km	29.86	IVII	M	15136098.822
				Total	605443.9528
dd 4% a	above on all items of works	+4%	-		15741542.7748
Grand To				*	The state of the s

(Rupees one Crore fifty seven lacs forty one thousand and five hundred forty three rupees)

Technical Officer

District Superintending Engineer, Hyd. Circle Kupwara H.Q Handwara

A Terms and Conditions: -

- The contractor shall draw agreement with the Superintending Engineer Hyd. Circle Kupwara H.Q Handwara within 07 days from the date of issue of allotment order and failing to execute such an agreement in time shall not however prevent this contract being enforced against the contractor and the conditions laid down in the NIT shall hold good even before drawl of formal
- The work shall have to be executed strictly in accordance with the approved proposals and 2. specifications of the sanctioned estimates.
- The date of start of work shall be reckoned from 07 days after issuance of allotment.
- It shall be mandatory for the executing agency/ contractor to ensure safe and adequate 3. supply of electricity required for all the workmen skilled/ unskilled deployed at site of work. 4.
- Suitable arrangements for supply of portable water at site of work for all the workmen skilled/ unskilled be made by the agency/ contractor just before the virtual start of execution at site. 5.
- Arrangements for sufficient sanitation facility at site be ensured by the executing agency / contactor for all the workmen to be mobilized at site besides, separate toilet facilities be 6. provided for Female workers at the site of work.
- Performance security equivalent 03% of the value of the contract Rs. 472246/- valid in 7. accordance with bid condition shall have to be furnished by you in shape of CDR/FDR/BG within one week of the date of issuance of allotment order or at the time of signing of agreement whichever is earlier
- Insurance cover as admissible under rules shall be provided to all workers/ skilled/unskilled 8. deployed at site and the necessary premiums shall be borne by the executing agency/ contractor itself.
- Payments are subject to the recommendation of the third party verification agency (M/s. 9. WAPCOS Ltd)

B. Time of completion

The works shall be completed within a period of (150 Working Days) after the date of issue of allotment. In the event of the contractor failing / declining / neglecting / delay in the execution of the work, penalty to the extent of 10% of the allotted amount shall be imposed on the contractor and the work shall be got executed departmentally or through any other agency at the risk and extra cost of the above contractor. Besides action under rules for black listing of the contractor shall be taken up by the Department.

C. Earnest Money

The CDR BEARING No: 063846 Dt: 21/06/2022 for Rs. 303000 lacs IN KASHMIR MERCANTILE CO-OP . BANK LTD . H.O. : SOPORE BRANCH KUPWARA. (Rupees THREE lacs and three thousands Only) Pledged to the { EXUTIVE Engineer (PHE) JAL SHAKTI DIVISION Kupwara) shall be retained in the Office till successful completion of the above work after the expiry of the defect liability period.

dvance payment

No mobilization advance or advance payment shall be made to the allottee (contractor).

E General

All other conditions as laid down in E-NIT 12 of 2022-23 issued under endorsement No: PHEDK/404-13 Dt: 10/05/2022 from Executive Engineer PHE Division Kupwara shall be binding on the contractor.

District Superintending Engineer, Hydraulic Circle Kupwara

HQ Handwara

Copy to the: -

Chief Engineer Kashmir PHE Department Srinagar for favour of information. 1.

District Development Commissioner (Chairman DJJM) Kupwara for favour of information.

District Nodal Officer WAPCOS Ltd. (Distt. Kupwara) for information. 3.

Executive Engineer PHE Division Kupwara for information and necessary action. 4.1

Head Draftsman Circle Office Handwara.

Office Copy.

Qic... Pilis in the second